6-6.2-65-65.2| tommy head M5x16 56
6.1-6.2-65.2 | countersunk head M5x20 72
5-5.1 countersunk head M5x20 16
[ 6-65 washer d=8 16
g ] | B 6-65 AUt M8 16
E| 6-65 tommy head M8x20 16
N 5-6.2-68 tommy head M5x12 32
-6 4-5 tommy head M6x20 16
é é} \ 1-65.1 tommy head M6x20 16
'4)7;'7'7'17'7'7'&%5*' ’s detall type n°piec.
@\ : EN Screw’'s table —
* Al
o i g u
o [ [ ]
3 L _ |
2 EIne nE (e @ RS
hC! or — ] )
/7 \ \ B i
[ I N
E [ a Dl 1%
NEZ ¢ e g e @ S\ /B
| | N\
\ \
! ! . N i
| | - /63
| | N
’@:‘ 4‘@’ f < © 9 H 7@?777?@7
[ [ i
‘ 192
(65 | (53
) 160 )
t‘h un| ﬁ‘j 1 2345
@ @ © 0000 modified structure 04-08-06
. i . i 0 0 0 O added connection convention 05-05-06
é}— «é} @ f @ T @ 6 78 9 ret. note date signature
' @ ' [— T — modifications
{5 Accu-Glass 9D-PKS 10400 65 | 129 | side base @r.3.2/ 111 | actuator
7 9 pin sub-D male connector 6.3 | 130 | lateral cover gr.3.1 112 | LVDT
| on stand 6.2 | 130 | lateral cover 72 eliminated
@ 10 ‘ . . 6.1 | 130 | sensor/act. base plate 68 | 129 | fransport plate
N TS Connection convention:
N é} é} H-bd 4 - 7%@@,,, 6 | 130 | little sensor plate| |65.3| 123 | Iateral cover
T i ; T H
' ' \~+(i( [ ! LVDT dr\vve * 5.1 130 | fixing sensor plate| |65.2| 129 | lateral cover
! 6: LVDT drive — 5 130 | sensor/act. plate 65.1| 129 | base
- - 2 ° L\/DT sense + ref. draw. added |egend ref. draw. added |egend
o B b 7: LVDT sense -
. . | .
-4: . + esioned for
| | S . el T
S — B . L Fov. b
% & & Wé’) % 5: shields LIGO PROJECT |“Z%. raro-PROMEC
- - B B dat
| i | {? {? — " 26-12-04
] . ACA HAM=0OPTICAL BENCH L160-D051105-02-D
view LVDT-ACTUATOR GR.3 e s A2
|
1 ? 3 T T T 1T 1T 11 I 6 I 7




